HONDA

3% fm
GXR120 <57

SA4ANO— 7B R &
OHCAHII Ty

Air-cooled 4-stroke single cylinder
OHC gasoline engine



SR ~FiE (mm)

Dimensions (mm)

Cyln. Center

POINTA

| ——

/]
,/‘§< @

Cyln. Center

293

170

00000000

62
40

75
60

(DOWEL HOLE)

50

37

50
58

126

(DOWEL HOLE)

MBX1.25 (EFFECTIVE LENGTH 18mm)
(TPLCS)[BOSS €, g,h |, p, G, 1)
DOWEL HOLE (6X5)

(2PLCY)

M8X1.25

TAPER 1/5
i

PTO>+7 h:VE-Type
PTO Shaft: VE-Type



SR ~FiE (mm)
Dimensions (mm)

Cyln. Center

r
=

3/

~
~

=
s

o

M8X1.25(4PLCS)
(DEPTH 16)



PTO>+7h/75>2<Fi&(mm)
PTO Shaft/Flange Dimensions (mm)

VE-Type
(Flange A)

117.5
(From cylinder center)

CRANKSHAFT (P.T.0.)

M10x 1.25

x 1.25 (2 PLACES)

M10x 1.25

-
513

-

17
S/ M10x1.25
+r

o .
3 -]
1
T
- 8
5 % '
" £ T
s
7
Ll 5]
3
z TAPER 1/5
51.3 51.3 =
- — - 5
94 94
- -— -
2
CRANKSHAFT (P.T.O.) g 117.5
M10x 1.25 M10x 1.25 g
! g
5 8 15
hd ol Pt
: b 3| F=—
@ =l
i o 8 —
o @ 400-403 T i
3 Lalied —
= )
¥ 5 —
o 58 T T
5 . ki
~ ! b—
! g -
-
' 53
s LI
51.3 51.3 ?
- — - -
94 94

VE-Type
(Flange B)

CRANKSHAFT (P.T.O.)

WB-Type
(Flange B)

CRANKSHAFT (P.T.O.)

4.00 -4.03

& 1145
2 (From cylinder center)
g2
gz %7
Te 185
8 09) —
8
2

- .

M8 x 1.25

TAPER 1/5

& 1145
2 (From cylinder center)
z ” =
T
© M12x1.25

~

g § L

et r

|
2 i -
L

(1-5_: i B

14.976 — 14.994



1%

Specifications
NS ERAANO—VERHE . Air-cooled 4-stroke single cylinder
IVoViEE OI:CjJ‘/')/I/// Engine type OHC gasoline engine
k) —7 =] Castiron sleeve v
RE 121 cm3 Displacement 121 cm3
PR B Gemtin i) 1.0 L/h@3600 rpm f:ti'dcggf,;,g: cont. 1.0 L/h@3600 rpm
MRy OB E — Fuel tank capacity —
TiE (@R 2EX2E) 259 X 294 X 290 mm Dimensions (L x W x H) 259 X 294 X 290 mm
HIgES 10.4 kg Dry weight 10.4 kg
&k
TERERhER
Power Curve
BAHA (kv Max.net power o 2.7 kW (3.6 HP)@3600 rpm (N'm8) B
B ERHE A Continuous rated power e 2.1 kW (2.8 HP)@3600 rpm 7+ \\
wANLY (zyh) Max.nettorque — e 7.5 N.m (0.76 kgf-m)@2500 rpm g’ I
(KW) (HP)
3 ~4
f/—_
//
43
2L
42
1 L
41
= 40
L | | L1 l ( )
QO O O Q Q rpm
OV RN Q %
%Q ,ﬁf) ,;)Q ,))(o VQ

KIBCRRUEIVPVHAEGSAE J1349(CEMUTRAESNERRHRB IV VOB AETIT . EEI VIS VOHEAIE. 2O
BEEDZZENDBVET . Tl ICREINTTIRETOREABEER IV VOGEHR FRERE AV T IREPZOMOEHEF
[CEWERLET AR TEEREEFIIITCETERBVET  Fe. RERIIFELLKEFEITZHENHVET,

AIEDOI/HBABF2020F4BREDEDCRVFT,

The power rating of the engine indicated in this document is the net power tested on a production engine for the engine model
and measured in accordance with SAE J1349 at a specified rpm. Mass production engines may vary from this value. Actual power
output for the engine installed in the final machine will vary depending on numerous factors, including the operating speed of
the engine in application, environmental conditions, maintenance, and other variables. Appearance, dimensions and dry weight
vary by type. Specifications are subject to change without notice. The content of this document are valid as of April 2020.

ER Honda®MAEI >V
% INESRBAVI)Y IV

« (#1) BARRERA R R RS D
CVHREAZBERBCEELTVET,

GX)—ZX GXR120(5>v—4917)



